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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 12,371

2. 4,262

3. 8,036

4. 14,792

5. 6,377

6. 13,255

7. 13,954

8. 9,587

9. 10,507

10. 10,832

11. 14,964

12. 2,872

13. 8,921

14. 16,008

15. 9,034

16. 10,193

17. 3,544

18. 9,800

19. 10,499

20. 16,144

Solve each problem.

1) 9,934 + 2,437 = 12,371

2) 2,998 + 1,264 = 4,262

3) 6,380 + 1,656 = 8,036

4) 8,483 + 6,309 = 14,792

5) 3,807 + 2,570 = 6,377

6) 8,422 + 4,833 = 13,255

7) 7,771 + 6,183 = 13,954

8) 6,669 + 2,918 = 9,587

9) 6,722 + 3,785 = 10,507

10) 6,451 + 4,381 = 10,832

11) 9,808 + 5,156 = 14,964

12) 1,597 + 1,275 = 2,872

13) 4,485 + 4,436 = 8,921

14) 8,293 + 7,715 = 16,008

15) 7,840 + 1,194 = 9,034

16) 7,086 + 3,107 = 10,193

17) 1,973 + 1,571 = 3,544

18) 5,030 + 4,770 = 9,800

19) 8,561 + 1,938 = 10,499

20) 9,313 + 6,831 = 16,144
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Modified

Solve each problem.

12,371 9,587 10,507 8,036

14,792 13,255 10,832 13,954

14,964 6,377 2,872 4,262

1) 9,934 + 2,437 = 12,371

2) 2,998 + 1,264 = 4,262

3) 6,380 + 1,656 = 8,036

4) 8,483 + 6,309 = 14,792

5) 3,807 + 2,570 = 6,377

6) 8,422 + 4,833 = 13,255

7) 7,771 + 6,183 = 13,954

8) 6,669 + 2,918 = 9,587

9) 6,722 + 3,785 = 10,507

10) 6,451 + 4,381 = 10,832

11) 9,808 + 5,156 = 14,964

12) 1,597 + 1,275 = 2,872

Answers

1. 12,371

2. 4,262

3. 8,036

4. 14,792
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6. 13,255

7. 13,954
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9. 10,507

10. 10,832

11. 14,964

12. 2,872

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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